Homework: Rotations About the Origin

Name:

90° clockwise (x,y) - (y,—x)

90° counterclockwise (x,y) = (=y,%)

180° (x,y) = (—x,—y)

#"“raph the image of the figure using the transformation given. Find the coordinates of the shaded image.

1. Rotation 180° about if\l\e origin
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3. Rotation 90° clockwise about the origin
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2. Rotation 90° Counterc:lfo‘ckwise about the origin
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4. Rotation 180° about the origin
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5. Rotation 90° clockwise about the origin
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7. Rotation 90° clockwise about the origin
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6. Rotation 90° counterclockwise about the origin
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Find the coordinates of the vertices of each
figure after the given transformation.

8. Rotation 180° about the origin ( o e __0 )
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9. Rotation 90° clockwise about the origin { Y
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10. Rotation 90° counterclockwise about the origin

V(-5,-3), A(—3,1), G(0,-3)

V'(35) W) 6'(30)

(-:_: . ¥}

¢




